KRS  hyTUll xt#gER

Ad—h Ba—Fk
NO | sasuesps| 1) —4" o Bk FE |[NO|mses|)—5 xT Bk FE
1193 | A R UFC 9 |vs| 2 RIO-G A& [ 1] 930]| B RiO-W 1 |vs]| 2 RiO-0 A ER
2 [10:10] A rabona—®& [10|vs| O ToI4= BR[| 2]10:10| B WAFC 2 (vs| 0| EERY37 [RiO-O
3 (1050 A A& 4 [vs| 1 RIO-G 7v74=[ 31050 B | TJR—SS | 6 |vs| O RiO-0 BB
4 111:30 A rabona— & 5|vs| 0 ERSRUFC HE¥ |[ 4 [11:30| B MAFC 4 lvs| O RiO-W AREB
51210 A ToI4= 1|vs| 9 A% A& || 5|12:10| B BikY57 | 2|vs| 4| T7RY—SS | #A
6 |1250| A rabona—& 9|vs| O RiO-G A& || 6 | 1250 B WAFC 4 |vs]| O RiO-0 ITR—
7 (1330 A EESRJUFC 1|vs| O A% rabona|[ 7 [13:30| B | TTJR!J—SS | 4 |vs| 0 RiO-W ARER
8 [1410| A TUIL4= 7 |vs| 7 RIO-G A& || 8 [1410| B BiEIST | 4|vs| 4 RiO-0 RIO-W
9 [1450( A rabona—®E | 1 |vs| 0 AE RIO-G| 9 [ 1450 B MAFC 1|vs| 1| T7R1J—SS | EiE
10[15:30( A EERJUFC 6 |vs| 4 ToI4= A% [[10|15:30| B BiEY57 | 4 |vs| 1 RiO-W ARER
11[16:10 [ ;REE| rabona—E | 2 |vs| 2| =TJRY—SS | A& [ 11| 16:10] 3% EERJFC 2 [vs]| 1 ®AEFC A ER
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